Exam 11
STA 207

Date: Thursday August 6™, 2009

Time: 2:00 — 3:55 pm
Duration: 55 minutes

Number of Questions: 3
Number of pages: 8
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Exam Policy

Note: Cheating will not be tolerated
- Putyour ID on the desk
- Do not keep your cellular on the desk
- Look at your exam paper only
- Do not talk to others
- Do not lend or lent things
- Questions are not allowed
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Straight Left Right
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Ata =0.10, is there sufficient evidence to reject the

claim?
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~ points

-ndent random samples were selected from three normally distributed

common but unknown variance . The data are shown below

Sample (1) | 3.1 43 2.2 43 4

~ [Sample 2) 5.4 3.6 4.0 2.9 2.2 36

Sample (3) 26 L 3.0 23 2

At a = 0.05, 1s there sufficient evidence to conclude that all the true means of the three
populations are equal? Use the P-value method.
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OI concrete depends, to some extent, on the method used for drying. Two

Mierent drying methods were applied to two independent random samples of concrete.
[he results are a shown below:

Method I Method 11
n1= 8 n2= 13
X,=3250 x,= 3150
=20 s,= 175

Construct a 90% confidence interval for u, — [, assuming that the two populations from
which our samples were selected are normal with:
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Tiances. ( 9 points)
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al areas, the researchers found that 57 out of 200 people selected from area (1)
1d 30 out of 125 people selected from area (2) suffer from lung diseases. At a. = 0.05,
can we conclude that there is a difference in the true proportions of people who suffer
 from lung diseases in both areas?
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